Worksheet for the spreadsheet “monopoly”

All of the questions below should be answered by changing the numbers in the seven shaded cells in the spreadsheet.  If you choose an inappropriate number, a warning message will appear on the spreadsheet.  Since these warnings are hidden when not required, do not type anything in any other cells, even if they appear empty!  If you pass the cursor over the red triangle, a comment will appear, with information about what is in that cell.

Choose a vertical intercept (cell C12) and slope (cell C13 – make sure it’s negative) for the demand curve.  Choose values so that you can see the demand curve cut the horizontal axis on the graph.  Fill in the table below for several values of the intercept and slope.

Demand curve
Horizontal intercept of the
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Demand curve
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(You will have to measure the horizontal intercepts “by eye”, unless you can work them out!)

Now choose values for the output level where average variable cost is at a minimum (cell B4), the level of AVC at that point (cell B5), a higher output level where average total cost is at a minimum (cell B7), and the level of ATC at that point (cell B8).

What level of output gives Marginal Revenue equal to Marginal Cost (cell C14)? ________

Use cell C17 to enter the level of output chosen, and fill in the table below:

Output level

Price (C18)
Marginal Cost (C20)
Profit (C23)


(lower than C14) 





(where MC=MR)





(higher than C14) 




Now choose a higher value of the demand curve intercept.  

What happens to the market price? _____________

What happens to the firm’s output? ______________

What happens to the firm’s profits? ______________

Now choose a steeper slope for the demand curve.

What happens to the market price? _____________

What happens to the firm’s output? ______________

What happens to the firm’s profits? ______________

You can also use this spreadsheet to find the position of an imperfectly competitive firm.  In the short run, it could look just like a monopoly.  In the long run, firms enter and leave the industry, shifting the demand curve, until the firm is making zero profits.  You could type the output level into cell C17 each time you shift the demand curve, but it is easiest to type “+C14” in this cell, which will automatically give the profit-maximising output level.

Change the intercept of the demand curve until the firm is making zero profits (in practice, profits of between +1 and –1 should be close enough to make the diagram “look right”).

Choose a different intercept, and change the slope until the firm is again making zero profits. What is the relationship between the demand curve and the firm’s average cost curve in this long-run equilibrium? ______ 
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